
 

Warmed Let ogres be

I 2 3 4 5 l 2 3 4 5

3 5 4 2
and T 4 3 5 I 2

Compute or and to

Cyclenotation

Notice that o describes a cycle

5 3

Tze4
We write this as o 13 4 25

Also O 3 4 25 1 4 2 51 3



Similarly T consists of two cycles

Id and 533

Write T I 4 2 3 5

Notice that T 2 3 5 14 also because

the cycles are disjoint

Now working right to left we compute

OT I 3 4 25 I 4 235

I 4 2
2 3 94I 24 3 5
etc

and

To I 4 2 3 5 I 3 4 25

1 5 43 2



Note We normally omit the l cycles
and understand them to be implicit

Ex The elements of S are

Withtcycles Without

id 1 2 3 e

I 2 3 L2

I 3 2 13

1 23 23

123 123

I 32 I 32

Observe that I 23 32 1

I 3 2



Prop A k cycle in Sn has order h

Proof Let o a az and be
a k cycle

Visualize a da

I at

Them o id for leith 1

since
gila ait a

for these values of i

But okla ai oka az
and oh Can an so

oh id

Thus lol k B




